Study Question 6
IBM was sued by a number of competitors in a number of antitrust suits in the 1960s and 1970s.  At the time IBM dominated the market for the sale of main frame computers used in business applications.  The practices at issues (that I am here interested in) concerned IBM’s actions in regard to peripheral devices such as disk drives and printers.  When IBM would come out with a new main frame model, IBM would also supply IBM peripherals.  Other electronic manufacturers would acquire the peripherals and then reverse engineer the products.  Within typically four months the other manufacturers would have IBM plug compatible peripherals available at prices 50-70% of the IBM peripheral prices.  IBM reacted by integrating the device controllers into the peripheral devices rather than placing them into the main frame.  Due to both IBM patents and trade secrets this effectively drove the computing peripheral manufacturers out of the market.  IBM changed to this manufacturing practice even though it increased their costs of making the main frame and the peripheral devices by about 10% of the costs of the peripherals.

Offer three alternative explanations for why IBM would desire to prevent competing manufacturers from offering IBM compatible peripheral devices.  In answering be sure to consider whether the value to the customer of the business use main frame (a market controlled by IBM and therefore a value that presumably could be “collected” by IBM) would be greater if peripherals were available for lower prices. 
